WEST VIRGINIA DEPARTMENT OF HEALTH AND HUMAN RESOURCES

PAC ELIGIBILITY CALCULATIONS - Method 1

Case Name:

Case Number:

1. Determine the last month in which the client received SSI and was entitled
to RSDI.
2. Using Chapter 10, Appendix E, find the multiplier for that month and year,
multiply the current amount of RSDI by that multiplier. X
3. |+ Add any other current unearned and/or deemed income
4 Total gross monthly unearned income
5 |- Subtract $20 Disregard
6. Remainder
7 Total gross monthly non-excluded earned income
8. |- Subtract remainder of $20 Disregard
9 Remainder
10. | - Subtract $65 Earned Income Disregard
11. Remainder
12. | - Subtract Impairment-Related Work Expenses
13. Remainder
14, | - Subtract %2 of remainder
15. Remainder
16. | - Subtract Blind-Related Work Expenses
17. Remainder
18. | - Subtract Earnings Diverted to a PASS
19. Remainder
20. | + Add unearned and/or deemed income from Step 6
21. Total
22. Subtract unearned income diverted to a PASS, Death Benefits and child
; support disregard
23. Total monthly countable income
Compare Amount in Step 23 to the current SSI payment amount of for . If your

monthly countable income is less than the current SSI payment amount, you are eligible. If your
spouse is ineligible, we may count your spouse’s income, but we compare the total income amount to
the income limit for 2.
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